LOG REVIEW

1)
$$81^{3/2} - \sqrt{81^3}$$

= 9^3
= 729

$$\frac{1}{\log_5 \frac{1}{125}} = \log_5 \frac{5}{5} = -3$$

$$e^{42h} 2 = e^{2h} 2^4 = 16$$

$$= \left(\frac{1}{4^{-3/2}} + \frac{3^{-3}}{3^3}\right)^{-1}$$

$$= \left(\frac{1}{2\sqrt{4^3}} + \frac{1}{3^3}\right)^{-1}$$

$$= \left(\frac{1}{8} + \frac{1}{27}\right)^{-1}$$

$$= \left(\frac{27 + 8}{216}\right)^{-1}$$

$$= \left(\frac{35}{216}\right)^{-1}$$

Solving Equations If problems starts with If problem starts with logs x in the exponent. $5+2^{3x-1}=9$ 1) Combine logs to get one per side. 1) Isolate the exponential part. 2) Exponentiate 2) Add logs to both Sides & plag. 3(c) 109 = 27 = X 27 = 1x log 27 = xlog q 109 27 = X log /4 log/9 Toff9 -3/2 = x

$$\frac{d-g}{\log_{x} x + \log_{x}(y-5)} = 2$$

$$\log_{x} (x^{2}-5x) = 2$$

$$x^{2}-5x = 36$$

$$x^{2}-5x-36 = 0$$

$$(y-9)(x+4) = 0$$

$$x=9,-x$$

In
$$(2x) + \ln(x+4) = 7$$

In $(2x^2 + 8x) = 7$
 $2x^2 + 8x = e^7$
 $2x^3 + 8x - e^7 = 6$
 $2x = 8^{\frac{1}{2}} \sqrt{8^2 - 4(2)(-e^7)}$

Like M

 $e^{\frac{1}{2}x} - 3e^{\frac{1}{2}x} - 28 = 6$
 $e^{\frac{1}{2}x} - 3e^{\frac{1}{2}x} -$

Graph

$$y = -e^{x+3}$$
 $y = \ln (4-x) + 2$
 $y = \ln ($